\\\\\\\\
*******************

__ Entrée/Korridor i Z 4
E1 BF:14.56 m? 1 u i ‘9‘ "O .e

=] BREITITKUNTEN

3 Y2 Zimmer-Wohnung E2

Haus E
Geschoss EG
Flache 109.77 m?
Garten 100 m?
Keller 12.95 m?

Zimmer 1 \
BF:12.56 m2 (»,

S

Treppenhaus
BF:12.73 m?

W//i L S
‘ © o) Bad ‘ N
° ) 7 BF.7.01 m2 /
ler 2 [FWC/DU T 7]
7 m2 BF:3.72 m? ]
F [ IR

4 ” l I
—— —~ Entrée/Korridor

= \F1) Br:t1.28 me [ ] | [l Haus Haus Haus §

: . ] g A C ‘ G
er 1 ] |nSt ‘ § H Z Haus i E

2 £ ] - ; + aus Haus
+m? N i g 2 . : =
! EEZ79m BF:47.17 m? Sitzplatz B =2 p Haus i H |
o0 | ] ] BF:24.00 m? o] =g F | :
— [&d] \ = p— «
E—— ! P
Reduit [

penhaus sr:3come I I =
73 m? — I T~ .

1 2 3 4 5 6 7 8 9 10m




